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[Question ID = 2479][Question Description = Q01_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9913]
2. 2 [Option ID = 9914]
3. 3 [Option ID = 9915]
4. 4 [Option ID = 9916]

Correct Answer :-
e 1 [Option ID = 9913]
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[Question ID = 2480][Question Description = Q02_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9917]
2. 2 [Option ID = 9918]
3. 3 [Option ID = 9919]
4. 4 [Option ID = 9920]

Correct Answer :-
e 1 [Option ID = 9917]
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[Question ID = 2481][Question Description = Q03_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9921]
2. 2 [Option ID = 9922]
3. 3 [Option ID = 9923]
4. 4 [Option ID = 9924]

Correct Answer :-
e 1 [Option ID = 9921]
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[Question ID = 2482][Question Description = Q04_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9925]
2. 2 [Option ID = 9926]

3. 3 [Option ID = 9927]
4. 4 [Option ID = 9928]

Correct Answer :-

& 1 [Option ID = 9925]
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[Question ID = 2483][Question Description = Q05_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9929]
2. 2 [Option ID = 9930]
3. 3 [Option ID = 9931]
4. 4 [Option ID = 9932]

Correct Answer :-
e 1 [Option ID = 9929]
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[Question ID = 2484][Question Description = Q06_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9933]
2. 2 [Option ID = 9934]
3. 3 [Option ID = 9935]
4. 4 [Option ID = 9936]

Correct Answer :-
e 1 [Option ID = 9933]
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[Question ID = 2485][Question Description = Q07_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9937]
2. 2 [Option ID = 9938]
3. 3 [Option ID = 9939]
4. 4 [Option ID = 9940]

Correct Answer :-
e 1 [Option ID = 9937]
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[Question ID = 2486][Question Description = Q08_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9941]
2. 2 [Option ID = 9942]
3. 3 [Option ID = 9943]
4. 4 [Option ID = 9944]

Correct Answer :-
e 1 [Option ID = 9941]
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[Question ID = 2487][Question Description = Q09_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9945]
2. 2 [Option ID = 9946]
3. 3 [Option ID = 9947]
4. 4 [Option ID = 9948]

Correct Answer :-
e 1 [Option ID = 9945]
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[Question ID = 2488][Question Description = Q10_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9949]
2. 2 [Option ID = 9950]
3. 3 [Option ID = 9951]
4. 4 [Option ID = 9952]

Correct Answer :-
e 1 [Option ID = 9949]
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[Question ID = 2489][Question Description = Q11_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9953]
2. 2 [Option ID = 9954]
3. 3 [Option ID = 9955]
4. 4 [Option ID = 9956]

Correct Answer :-
e 1 [Option ID = 9953]
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[Question ID = 2490][Question Description = Q12_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9957]
2. 2 [Option ID = 9958]
3. 3 [Option ID = 9959]
4. 4 [Option ID = 9960]

Correct Answer :-
e 1 [Option ID = 9957]
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[Question ID = 2491][Question Description = Q13_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9961]
2. 2 [Option ID = 9962]
3. 3 [Option ID = 9963]
4. 4 [Option ID = 9964]

Correct Answer :-
e 1 [Option ID = 9961]
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[Question ID = 2492][Question Description = Q14_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9965]
2. 2 [Option ID = 9966]
3. 3 [Option ID = 9967]
4. 4 [Option ID = 9968]

Correct Answer :-



e 1 [Option ID = 9965]
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[Question ID = 2493][Question Description = Q15_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9969]
2. 2 [Option ID = 9970]
3. 3 [Option ID = 9971]
4. 4 [Option ID = 9972]

Correct Answer :-
e 1 [Option ID = 9969]
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[Question ID = 2494][Question Description = Q16_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9973]
2. 2 [Option ID = 9974]
3. 3 [Option ID = 9975]
4. 4 [Option ID = 9976]

Correct Answer :-
e 1 [Option ID = 9973]
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[Question ID = 2495][Question Description = Q17_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9977]
2. 2 [Option ID = 9978]
3. 3 [Option ID = 9979]
4. 4 [Option ID = 9980]

Correct Answer :-
e 1 [Option ID = 9977]
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[Question ID = 2496][Question Description = Q18_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9981]
2. 2 [Option ID = 9982]

3. 3 [Option ID = 9983]
4. 4 [Option ID = 9984]

Correct Answer :-

e 1 [Option ID = 9981]
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[Question ID = 2497][Question Description = Q19_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9985]
2. 2 [Option ID = 9986]
3. 3 [Option ID = 9987]
4. 4 [Option ID = 9988]

Correct Answer :-
e 1 [Option ID = 9985]
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[Question ID = 2498][Question Description = Q20_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9989]
2. 2 [Option ID = 9990]
3. 3 [Option ID = 9991]
4. 4 [Option ID = 9992]

Correct Answer :-
e 1 [Option ID = 9989]
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[Question ID = 2499][Question Description = Q21_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9993]
2. 2 [Option ID = 9994]
3. 3 [Option ID = 9995]
4. 4 [Option ID = 9996]

Correct Answer :-
e 1 [Option ID = 9993]
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[Question ID = 2500][Question Description = Q22_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9997]

2. 2 [Option ID = 9998]

3. 3 [Option ID = 9999]

4. 4 [Option ID = 10000]

Correct Answer :-
e 1 [Option ID = 9997]
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[Question ID = 2501][Question Description = Q23_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10001]
2. 2 [Option ID = 10002]
3. 3 [Option ID = 10003]
4. 4 [Option ID = 10004]



Correct Answer :-
e 1 [Option ID = 10001]
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[Question ID = 2502][Question Description = Q24_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10005]
2. 2 [Option ID = 10006]
3. 3 [Option ID = 10007]
4. 4 [Option ID = 10008]

Correct Answer :-
e 1 [Option ID = 10005]
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[Question ID = 2503][Question Description = Q25_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10009]
2. 2 [Option ID = 10010]
3. 3 [Option ID = 10011]
4. 4 [Option ID = 10012]

Correct Answer :-
e 1 [Option ID = 10009]
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[Question ID = 2504][Question Description = Q26_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10013]
2. 2 [Option ID = 10014]
3. 3 [Option ID = 10015]
4. 4 [Option ID = 10016]

Correct Answer :-

e 1 [Option ID = 10013]
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[Question ID = 2505][Question Description = Q27_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10017]
2. 2 [Option ID = 10018]
3. 3 [Option ID = 10019]
4. 4 [Option ID = 10020]
Correct Answer :-

e 1 [Option ID = 10017]
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[Question ID = 2506][Question Description = Q28_Telugu_SHAAN_5DEC_S1_Shift1]



1 [Option ID = 10021]
2 [Option ID = 10022]
3 [Option ID = 10023]
4 [Option ID = 10024]
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Correct Answer :-
e 1 [Option ID = 10021]
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[Question ID = 2507][Question Description = Q29_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10025]
2. 2 [Option ID = 10026]
3. 3 [Option ID = 10027]
4. 4 [Option ID = 10028]

Correct Answer :-
e 1 [Option ID = 10025]
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[Question ID = 2508][Question Description = Q30_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10029]
2. 2 [Option ID = 10030]
3. 3 [Option ID = 10031]
4. 4 [Option ID = 10032]

Correct Answer :-
e 1 [Option ID = 10029]
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[Question ID = 2509][Question Description = Q31_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10033]
2. 2 [Option ID = 10034]
3. 3 [Option ID = 10035]
4. 4 [Option ID = 10036]

Correct Answer :-
e 1 [Option ID = 10033]
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[Question ID = 2510][Question Description = Q32_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10037]
2. 2 [Option ID = 10038]
3. 3 [Option ID = 10039]
4. 4 [Option ID = 10040]

Correct Answer :-
e 1 [Option ID = 10037]
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[Question ID = 2511][Question Description = Q33_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10041]
2. 2 [Option ID = 10042]
3. 3 [Option ID = 10043]
4. 4 [Option ID = 10044]

Correct Answer :-
e 1 [Option ID = 10041]
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[Question ID = 2512][Question Description = Q34_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10045]
2. 2 [Option ID = 10046]
3. 3 [Option ID = 10047]
4. 4 [Option ID = 10048]

Correct Answer :-
e 1 [Option ID = 10045]
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[Question ID = 2513][Question Description = Q35_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10049]
2. 2 [Option ID = 10050]
3. 3 [Option ID = 10051]
4. 4 [Option ID = 10052]

Correct Answer :-
e 1 [Option ID = 10049]
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[Question ID = 2514][Question Description = Q36_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10053]
2. 2 [Option ID = 10054]
3. 3 [Option ID = 10055]
4. 4 [Option ID = 10056]

Correct Answer :-
e 1 [Option ID = 10053]
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[Question ID = 2515][Question Description = Q37_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10057]
2. 2 [Option ID = 10058]
3. 3 [Option ID = 10059]
4. 4 [Option ID = 10060]



Correct Answer :-
e 1 [Option ID = 10057]
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[Question ID = 2516][Question Description = Q38_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10061]
2. 2 [Option ID = 10062]
3. 3 [Option ID = 10063]
4. 4 [Option ID = 10064]

Correct Answer :-
e 1 [Option ID = 10061]
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[Question ID = 2517][Question Description = Q39_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10065]
2. 2 [Option ID = 10066]
3. 3 [Option ID = 10067]
4. 4 [Option ID = 10068]

Correct Answer :-
e 1 [Option ID = 10065]
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[Question ID = 2518][Question Description = Q40_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10069]
2. 2 [Option ID = 10070]
3. 3 [Option ID = 10071]
4. 4 [Option ID = 10072]

Correct Answer :-
e 1 [Option ID = 10069]
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[Question ID = 2519][Question Description = Q41_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10073]
2. 2 [Option ID = 10074]
3. 3 [Option ID = 10075]
4. 4 [Option ID = 10076]



Correct Answer :-
e 1 [Option ID = 10073]
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[Question ID = 2520][Question Description = Q42_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10077]
2. 2 [Option ID = 10078]
3. 3 [Option ID = 10079]
4. 4 [Option ID = 10080]

Correct Answer :-
e 1 [Option ID = 10077]
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[Question ID = 2521][Question Description = Q43_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10081]
2. 2 [Option ID = 10082]
3. 3 [Option ID = 10083]
4. 4 [Option ID = 10084]

Correct Answer :-
e 1 [Option ID = 10081]
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[Question ID = 2522][Question Description = Q44_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10085]
2. 2 [Option ID = 10086]
3. 3 [Option ID = 10087]
4. 4 [Option ID = 10088]

Correct Answer :-
e 1 [Option ID = 10085]
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[Question ID = 2523][Question Description = Q45_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10089]
2. 2 [Option ID = 10090]
3. 3 [Option ID = 10091]
4. 4 [Option ID = 10092]

Correct Answer :-
e 1 [Option ID = 10089]
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[Question ID = 2524][Question Description = Q46_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10093]
2. 2 [Option ID = 10094]
3. 3 [Option ID = 10095]
4. 4 [Option ID = 10096]

Correct Answer :-

e 1 [Option ID = 10093]
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[Question ID = 2525][Question Description = Q47_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10097]
2. 2 [Option ID = 10098]
3. 3 [Option ID = 10099]
4. 4 [Option ID = 10100]

Correct Answer :-
e 1 [Option ID = 10097]
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[Question ID = 2526][Question Description = Q48_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10101]
2. 2 [Option ID = 10102]
3. 3 [Option ID = 10103]
4. 4 [Option ID = 10104]

Correct Answer :-

& 1 [Option ID = 10101]
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[Question ID = 2527][Question Description = Q49_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10105]
2. 2 [Option ID = 10106]

3. 3 [Option ID = 10107]
4. 4 [Option ID = 10108]

Correct Answer :-

e 1 [Option ID = 10105]
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[Question ID = 2528][Question Description = Q50_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10109]
2. 2 [Option ID = 10110]
3. 3 [Option ID = 10111]
4. 4 [Option ID = 10112]

Correct Answer :-

e 1 [Option ID = 10109]
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[Question ID = 2529][Question Description = Q51_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10113]
2. 2 [Option ID = 10114]
3. 3 [Option ID = 10115]
4. 4 [Option ID = 10116]

Correct Answer :-

e 1 [Option ID =10113]
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[Question ID = 2530][Question Description = Q52_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10117]
2. 2 [Option ID = 10118]
3. 3 [Option ID = 10119]
4. 4 [Option ID = 10120]

Correct Answer :-
e 1 [Option ID = 10117]
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[Question ID = 2531][Question Description = Q53_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10121]
2. 2 [Option ID = 10122]
3. 3 [Option ID = 10123]
4. 4 [Option ID = 10124]

Correct Answer :-

e 1 [Option ID = 10121]
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[Question ID = 2532][Question Description = Q54_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10125]
2. 2 [Option ID = 10126]
3. 3 [Option ID = 10127]
4. 4 [Option ID = 10128]

Correct Answer :-
e 1 [Option ID = 10125]

33 rgrsDEd mpet 52008 TBS® Ko Showdoen
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(1) A, B srgh (2 B.C 5r@d
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[Question ID = 2533][Question Description = Q55_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10129]
2. 2 [Option ID = 10130]
3. 3 [Option ID = 10131]
4. 4 [Option ID = 10132]

Correct Answer :-
e 1 [Option ID = 10129]

76) 382 sarabeos™D 85,06 Sors” 355 antude g
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[Question ID = 2534][Question Description = Q56_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10133]
2. 2 [Option ID = 10134]
3. 3 [Option ID = 10135]
4. 4 [Option ID = 10136]

Correct Answer :-

e 1 [Option ID = 10133]
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(1) B.D drmsd (2) A C 3mEd
(3 B, C arsh 4) A D smsd

[Question ID = 2535][Question Description = Q57_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10137]
2. 2 [Option ID = 10138]
3. 3 [Option ID = 10139]
4. 4 [Option ID = 10140]

Correct Answer :-

e 1 [Option ID = 10137]
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[Question ID = 2536][Question Description = Q58_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10141]
2. 2 [Option ID = 10142]

3. 3 [Option ID = 10143]
4. 4 [Option ID = 10144]

Correct Answer :-

e 1 [Option ID = 10141]
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[Question ID = 2537][Question Description = Q59_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10145]
2. 2 [Option ID = 10146]
3. 3 [Option ID = 10147]
4. 4 [Option ID = 10148]

Correct Answer :-
e 1 [Option ID = 10145]
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[Question ID = 2538][Question Description = Q60_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10149]
2. 2 [Option ID = 10150]
3. 3 [Option ID = 10151]
4. 4 [Option ID = 10152]

Correct Answer :-
e 1 [Option ID = 10149]

Sisare)

=

noflof Boergen
() A B 5m@d (2) B.C s
(3) A D arpd (4) A.C drEd

[Question ID = 2539][Question Description = Q61_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10153]
2. 2 [Option ID = 10154]
3. 3 [Option ID = 10155]
4. 4 [Option ID = 10156]

Correct Answer :-
e 1 [Option ID = 10153]
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[Question ID = 2540][Question Description = Q62_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10157]
2. 2 [Option ID = 10158]
3. 3 [Option ID = 10159]
4. 4 [Option ID = 10160]

Correct Answer :-

e 1 [Option ID = 10157]
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(3) B.C arsd (4) B.D 3rgd

[Question ID = 2541][Question Description = Q63_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10161]
2. 2 [Option ID = 10162]
3. 3 [Option ID = 10163]
4. 4 [Option ID = 10164]

Correct Answer :-
e 1 [Option ID = 10161]
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[Question ID = 2542][Question Description = Q64_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10165]
2. 2 [Option ID = 10166]
3. 3 [Option ID = 10167]
4. 4 [Option ID = 10168]

Correct Answer :-
e 1 [Option ID = 10165]
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[Question ID = 2543][Question Description = Q65_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10169]
2. 2 [Option ID = 10170]
3. 3 [Option ID = 10171]
4. 4 [Option ID = 10172]

Correct Answer :-

e 1 [Option ID = 10169]
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[Question ID = 2544][Question Description = Q66_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10173]
2. 2 [Option ID = 10174]
3. 3 [Option ID = 10175]
4. 4 [Option ID = 10176]

Correct Answer :-
e 1 [Option ID = 10173]

67)  exetem 1 D sredee 11 &° a3 Dakod.
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B. ok I 3 25"
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(1) A-IV, B-1II C-III, D-I
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[Question ID = 2545][Question Description = Q67_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10177]
2. 2 [Option ID = 10178]
3. 3 [Option ID = 10179]
4. 4 [Option ID = 10180]

Correct Answer :-
e 1 [Option ID = 10177]
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[Question ID = 2546][Question Description = Q68_Telugu_SHAAN_5DEC_S1_Shift1]

1. 1 [Option ID = 10181]
2. 2 [Option ID = 10182]
3. 3 [Option ID = 10183]
4. 4 [Option ID = 10184]

Correct Answer :-
e 1 [Option ID = 10181]
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[Question ID = 2547][Question Description = Q69_Telugu_SHAAN_5DEC_S1_Shift1]

1. 1 [Option ID = 10185]
2. 2 [Option ID = 10186]
3. 3 [Option ID = 10187]
4. 4 [Option ID = 10188]

Correct Answer :-
e 1 [Option ID = 10185]

70) orpmar I 2 o 11 8° s ool
i |

A cirsdeo

BE. e

C. 55@3‘@'

D. IsTnSIIN]

8% S3TgraeRy HBobod :

(1) A-III. B-IL C-1V,
(2) A-1 B -1IIL C-1II

(3) A-IIL B-1v. C —1III.
(4 A-IV, B-1 C-1I.

er=etere 11

L méajc'oé“ﬁg&ﬁén
1I. ;‘Aﬁébo&o‘.ﬁa TR0
III. eroa horeso

IV. 2003 56

D-1
D-1V
D-I
D-T11I



[Question ID = 2548][Question Description = Q70_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10189]
2. 2 [Option ID = 10190]
3. 3 [Option ID = 10191]
4. 4 [Option ID = 10192]

Correct Answer :-
e 1 [Option ID = 10189]
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[Question ID = 2549][Question Description = Q71_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10193]
2. 2 [Option ID = 10194]

3. 3 [Option ID = 10195]
4. 4 [Option ID = 10196]

Correct Answer :-
e 1 [Option ID = 10193]
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(1) A-III. B-IV. C-1II. D-1I
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4 A-IV, B-1 C-1I, D-1III

[Question ID = 2550][Question Description = Q72_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10197]
2. 2 [Option ID = 10198]
3. 3 [Option ID = 10199]
4. 4 [Option ID = 10200]

Correct Answer :-
e 1 [Option ID = 10197]
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[Question ID = 2551][Question Description = Q73_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10201]
2. 2 [Option ID = 10202]
3. 3 [Option ID = 10203]
4. 4 [Option ID = 10204]

Correct Answer :-
e 1 [Option ID = 10201]
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[Question ID = 2552][Question Description = Q74_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10205]
2. 2 [Option ID = 10206]
3. 3 [Option ID = 10207]
4. 4 [Option ID = 10208]

Correct Answer :-
e 1 [Option ID = 10205]
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[Question ID = 2553][Question Description = Q75_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10209]
2. 2 [Option ID = 10210]
3. 3 [Option ID = 10211]
4. 4 [Option ID = 10212]
Correct Answer :-

e 1 [Option ID = 10209]

76)  BeorD grar 26O 15200
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(2 B,C.D A
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[Question ID = 2554][Question Description = Q76_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10213]
2. 2 [Option ID = 10214]
3. 3 [Option ID = 10215]
4. 4 [Option ID = 10216]

Correct Answer :-
e 1 [Option ID = 10213]
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[Question ID = 2555][Question Description = Q77_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10217]
2. 2 [Option ID = 10218]
3. 3 [Option ID = 10219]
4. 4 [Option ID = 10220]
Correct Answer :-

e 1 [Option ID = 10217]
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[Question ID = 2556][Question Description = Q78_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10221]
2. 2 [Option ID = 10222]
3. 3 [Option ID = 10223]
4. 4 [Option ID = 10224]

Correct Answer :-
e 1 [Option ID = 10221]
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[Question ID = 2557][Question Description = Q79_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10225]
2. 2 [Option ID = 10226]
3. 3 [Option ID = 10227]
4. 4 [Option ID = 10228]



Correct Answer :-
e 1 [Option ID = 10225]
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[Question ID = 2558][Question Description = Q80_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10229]
2. 2 [Option ID = 10230]
3. 3 [Option ID = 10231]
4. 4 [Option ID = 10232]
Correct Answer :-

e 1 [Option ID = 10229]
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[Question ID = 2559][Question Description = Q81_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10233]
2. 2 [Option ID = 10234]
3. 3 [Option ID = 10235]
4. 4 [Option ID = 10236]
Correct Answer :-

& 1 [Option ID = 10233]
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383 SArgraeyy H08odod
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[Question ID = 2560][Question Description = Q82_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10237]
2. 2 [Option ID = 10238]
3. 3 [Option ID = 10239]
4. 4 [Option ID = 10240]

Correct Answer :-
e 1 [Option ID = 10237]
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C Ehie]
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9% DargraeRy HHBodod :
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[Question ID = 2561][Question Description = Q83_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10241]
2. 2 [Option ID = 10242]
3. 3 [Option ID = 10243]
4. 4 [Option ID = 10244]

Correct Answer :-
e 1 [Option ID = 10241]
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[Question ID = 2562][Question Description = Q84_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10245]
2. 2 [Option ID = 10246]
3. 3 [Option ID = 10247]
4. 4 [Option ID = 10248]

Correct Answer :-
e 1 [Option ID = 10245]

85) 2o 51 B0 SrerRIER0eE
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(1) A.B.C.D
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[Question ID = 2563][Question Description = Q85_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10249]
2. 2 [Option ID = 10250]
3. 3 [Option ID = 10251]
4. 4 [Option ID = 10252]

Correct Answer :-
e 1 [Option ID = 10249]
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[Question ID = 2564][Question Description = Q86_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10253]
2. 2 [Option ID = 10254]

3. 3 [Option ID = 10255]
4. 4 [Option ID = 10256]

Correct Answer :-
e 1 [Option ID = 10253]
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[Question ID = 2565][Question Description = Q87_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10257]
2. 2 [Option ID = 10258]
3. 3 [Option ID = 10259]
4. 4 [Option ID = 10260]

Correct Answer :-

e 1 [Option ID = 10257]
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[Question ID = 2566][Question Description = Q88_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10261]
2. 2 [Option ID = 10262]
3. 3 [Option ID = 10263]
4. 4 [Option ID = 10264]

Correct Answer :-

e 1 [Option ID = 10261]
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[Question ID = 2567][Question Description = Q89_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10265]
2. 2 [Option ID = 10266]
3. 3 [Option ID = 10267]
4. 4 [Option ID = 10268]
Correct Answer :-

e 1 [Option ID = 10265]
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[Question ID = 2568][Question Description = Q90_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10269]
2. 2 [Option ID = 10270]
3. 3 [Option ID = 10271]
4. 4 [Option ID = 10272]

Correct Answer :-

e 1 [Option ID = 10269]

Topic:- Telugu_SET1_B
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[Question ID = 2569][Question Description = Q91_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10273]
2. 2 [Option ID = 10274]
3. 3 [Option ID = 10275]
4. 4 [Option ID = 10276]

Correct Answer :-

e 1 [Option ID = 10273]
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[Question ID = 2570][Question Description = Q92_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10277]
2. 2 [Option ID = 10278]
3. 3 [Option ID = 10279]
4. 4 [Option ID = 10280]

Correct Answer :-

& 1 [Option ID = 10277]
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[Question ID = 2571][Question Description = Q93_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10281]
2. 2 [Option ID = 10282]
3. 3 [Option ID = 10283]
4. 4 [Option ID = 10284]

Correct Answer :-

e 1 [Option ID = 10281]
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[Question ID = 2572][Question Description = Q94_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10285]
2. 2 [Option ID = 10286]

3. 3 [Option ID = 10287]
4. 4 [Option ID = 10288]

Correct Answer :-

e 1 [Option ID = 10285]
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[Question ID = 2573][Question Description = Q95_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10289]

2. 2 [Option ID = 10290]
3. 3 [Option ID = 10291]



4. 4 [Option ID = 10292]

Correct Answer :-
e 1 [Option ID = 10289]

Topic:- Telugu_SET1_C
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[Question ID = 2574][Question Description = Q96_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10293]
2. 2 [Option ID = 10294]
3. 3 [Option ID = 10295]
4. 4 [Option ID = 10296]

Correct Answer :-

e 1 [Option ID = 10293]
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[Question ID = 2575][Question Description = Q97_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10297]
2. 2 [Option ID = 10298]
3. 3 [Option ID = 10299]
4. 4 [Option ID = 10300]

Correct Answer :-
e 1 [Option ID = 10297]
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[Question ID = 2576][Question Description = Q98_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10301]
2. 2 [Option ID = 10302]
3. 3 [Option ID = 10303]
4. 4 [Option ID = 10304]

Correct Answer :-
e 1 [Option ID = 10301]
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[Question ID = 2577][Question Description = Q99_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10305]
2. 2 [Option ID = 10306]
3. 3 [Option ID = 10307]
4. 4 [Option ID = 10308]

Correct Answer :-



e 1 [Option ID = 10305]
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[Question ID = 2578][Question Description = Q100_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10309]
2. 2 [Option ID = 10310]
3. 3 [Option ID = 10311]
4. 4 [Option ID = 10312]

Correct Answer :-
e 1 [Option ID = 10309]

Topic:- 05th_Set11_2021 Shift 2_A

Easy Notes 4u Online Study

The following table presents the details about the number of players particlpating in
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India. UK., Australia, Canada, Spain and USA) during the year 2020. Based on the data in

the table. answer the question -

1)

Country-wise Participation of players in Games

Football | Cricket | Badminton
v \/" \/

65 55 45
70 75 40
y Australia 90 85 95
- | Canada 85 80 85
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The number of players participating in cricket from Canada is what percentage (%) of the
number of players participating in Badminton from India?

() 177.77T% (2) 176.78%
(3) 178.87% (4) 180.82%

fafafiaa it § 39 2020 % 209 @ (6) fata= 2o (vmwa, faea, smformn, Fars1, o iR smi)
T A (3) FAE-AE Gl (e, e AR Ssea) 9 am o1 T fgenfsa & @en w o
T | AR | ST T SATRS % HATAW T UTE R 39 S

= | Peame | fFde | ssies

=)
el AN
e 65 | 55 | (45) 7 AT /
faa 70 | 75 | 40 /Wr

Ao | 90 85 95

— 85 @ 85 Cﬁw ‘Bv‘a"

LS E] 80 70 95
TR 55 60 65

-asy Notes 4u Online Stud N
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(1) 177.77% (2) 176.78%
(3 178.87% (4) 180.82%

[Question ID = 2879][Question Description = Q1_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11513]
2. 2 [Option ID = 11514]
3. 3 [Option ID = 11515]
4. 4 [Option ID = 11516]

Correct Answer :-
e 1 [Option ID = 11513]

The following table presents the details about the number of players particlpating in
three (3) different games (Football. Cricket and Badminton) from six (8) different countries
(India. UK, Australia, Canada, Spain and USA) during the year 2020. Based on the data in
the table. answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton

65 55 45
R T
CN“}W Lré 70 75 40 wj\)ﬁ

N \/ Australia 90 85 95 \)},
ot //\A Canada 85 80 85 o —
SR . z v
S Spain 30 70 95
USA 55 60 65

<\

What 1s the total number of players participating in cricket from Canada. Spain and USA
and the number of players participating in Football from India. UK and Australia?

(1 335 (2) 635
(3 435 4) 535

Ffefiga atfer | a9 2020 % S0 =7 (6) fata= 2w (wra, faea, sesiemn, S=rs, T St 3
T A (3) FAE-AE Gl (e, e AR Ssea) 9 am o1 T fgenfsa & @en w o
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[Question ID = 2880][Question Description = Q2_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11517]
2. 2 [Option ID = 11518]
3. 3 [Option ID = 11519]
4. 4 [Option ID = 11520]

Correct Answer :-
e 1 [Option ID = 11517]

The following table presents the details about the number of players particlpating in
three (3) different games (Football. Cricket and Badminton) from six (8) different countries
(India. UK, Australia, Canada, Spain and USA) during the year 2020. Based on the data in
the table. answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton

65 55 45

"\)f\d"" 70 75 40
SgeF 0 |Australia 90 85 9 [| -3&;\ v
Canada 85 80 85 /

- X&O@ T 80 70 95

—= UsA 55 60 | |\ 65

v WIS~

The number of players participating in from all the six countries 1is
approximately what percentage (%) of the total mumber of players participating in all the
games from Australia? e

1)  134% 2 164%
3  126% V@) A57%

fafafiaa it § 39 2020 % 209 @ (6) fata= 2o (vmwa, faea, smformn, Fars1, o iR smi)
T A (3) FAE-AE Gl (e, e AR Ssea) 9 am o1 T fgenfsa & @en w o
T | AR | ST T SATRS % HATAW T UTE R 39 S

= | Peame | fFde | ssies

|
Y

A 65 | 55 45
o 70 75 40

Ao | 90 85 95
F=T 25 20 25
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[Question ID = 2881][Question Description = Q3_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11521]
2. 2 [Option ID = 11522]
3. 3 [Option ID = 11523]
4. 4 [Option ID = 11524]

Correct Answer :-
e 1 [Option ID = 11521]

The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India. UK, Australia, Canada. Spain and USA) during the year 2020. Based on the data in
the table, answer the question .

Country-wise Participation of players in Games

Football | Cricket | Badminton
65 55 45
70 75 40
Australia 90 85 95
Canada 86 80 85
Spain 30 70 95
USA 55 60 65

If country A represents the highest number of players participating in Football and
couniry B represents the lowest number of players participating in Badminton,

then (A, B) =
(1) (Australia. UK) (2) (Canada. USA)
(3 (Australia. Canada) (4) (Spain. India)

Frafataa afe 5 a9 2020 % 20F 58 (6) [@ia= 390 (wra, e, awsfemn, #s1, ¥ 317 378 )
T M (3) =m-31e el (Fesie, THhe 3 Ssibed) § 99 =4 e Tgentsa i 5e i s fEm
T 2 | AR O SN T ST % ST W U # Se i

ii;'?fl._ FeaTe | e | Ssfie

=y N

A 65 | 55 | 45

faa 70 | 75 | |40 y

NE @) 8 | 95 —

FATET 85 | 80 | 85

g 80 70 95

AT 55 | 60 65

7tz S AR e & s < e et A den w2 o B A § o
Raeriisal =i T =Fad 2 °f 3 3F1 29 (A, B) = z

O (sl fm) 0 Y, (2) (%=, sEf)

3 (e, #= =) (4) (&, wwd)
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[Question ID = 2882][Question Description = Q4_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11525]
2. 2 [Option ID = 11526]
3. 3 [Option ID = 11527]
4. 4 [Option ID = 11528]

Correct Answer :-
e 1 [Option ID = 11525]

The following table presents the details about the number of plavers participating In
three (3) different games (Football, Cricket and Badminton) from six (6) different countries

(India. UK, Australia, Canada. Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton
G5 %3] 45
70 75 40
Austraha 90 85 95
Canada 86 20 85
Spain 30 70 95
USA 55 60 65

If 60% of the players participating in@ the games from Spain are ma.leland 30% of the
players participating in all the games from Australia are female, then what will be their
ratio? (male : female)

(1 127:170 @ 18:7 (%) Dol ™
(3)  49:27 @ 87:56 @ '

Feferfiaa Atfers d =9 2020 % 0 =7 (6) fata= 2w (9rd, fsea, wwslomn, w1, WA S sui)
o dF (3) srem-3em @l (Fesie, Hhe 3 ssibeq) § 9/ w4 9o Ggentsa i gen s @

E ~ % e P i EE : ~ :
T 7 | el °§ 160 0 SRS % STHW 9 0YA S SO9 g @*’50 Q’
—»
Ty
%) Hrd 65 515) 45
A \M : \L
/‘«%(\,\/ fa 0 | 75 | 40 | " g/ ?
o i Ty Y LN
\\y( / f}/ B Ry &90 8 | 9 |~ .,
@ g TS 85 | 80 | 85 .
: o o
Vs (s0 [0] o S o~
A ~— .
V}/’&'\\' s | 55 | 60 | 65 WUL“,/”
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[Question ID = 2883][Question Description = Q5_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11529]
2. 2 [Option ID = 11530]
3. 3 [Option ID = 11531]
4. 4 [Option ID = 11532]

Correct Answer :-
e 1 [Option ID = 11529]

Topic:- 05th_Set11_2021 Shift 2_B
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1)
Understanding individual differences helps a teachti?/

(A) Designing the course materials /

(B) Planning a training program.m\g/

(C) Designing teaching strategl?/

(D) Understanding the subject matter

(E) Raising the intelligence level of students.

Choose the most appropriate answer from the options given below :
(1 (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (C). (D) and (E) only (4) (A). (B) and (E) only

(A)  TETHA Tl w S w0 I
(B) m’ﬁmmaﬁrmwn/
(© T g F fmm
(D) T oEh = wmeE \/
E® Tl % oused = ow awe b
= fau v fomedi @ @ HEE ST I R 99 HIfAC
(= @), ® =7 (©) (2) ¥ (B). (C) 3% (D)
(3)  F= (C). (D) ¥R (B) (@) FaE (A). (B) 31 (E)

[Question ID = 2884][Question Description = Q06_GP_Set11_S1]
1. 1 [Option ID = 11533]
2. 2 [Option ID = 11534]
3. 3 [Option ID = 11535]
4. 4 [Option ID = 11536]

Correct Answer :-
e 1 [Option ID = 11533]

2)  Which of the following is true about understanding level of teaching?
1) Imparting factual information — - &(
(2) Teaching to comprehend the concepts X
(3) Teaching to explore the field of knowledge .
(4) Teaching to develop rational thinking 1)4\?(\)9&

mmfﬁmmaﬁa’mﬁﬁmﬁf@ﬂqnﬁmﬁﬂf
(1) ALATAHF o1 TgH Al

(2) Lﬂauﬂmm}‘rmﬁafﬁmﬂm
(8) M &3 F =TT =g faEm

(4) e A= o e & ferm frem

[Question ID = 2885][Question Description = Q07_GP_Set11_S1]
1. 1 [Option ID = 11537]
2. 2 [Option ID = 11538]
3. 3 [Option ID = 11539]
4. 4 [Option ID = 11540]

Correct Answer :-
e 1 [Option ID = 11537]

3) A group of DTH channels devoted to telecasting educational program.me asisis:
(1) Swayam (2 MOOC
(3) Swayam Prabha (4) Gyvan Darshan

24 x 7 T2 HATENG IATEF FEHA FH THING F1 7d FAGT I 2 T oA F O THE
(1) =d (Swayam) 2 TF (MOOC)

(3) SWW}\/ @) FE=E

[Question ID = 2886][Question Description = Q08_GP_Set11_S1]
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1 [Option ID = 11541]
2 [Option ID = 11542]
3 [Option ID = 11543]
4 [Option ID = 11544]

A W N -

Correct Answer :-
e 1 [Option ID = 11541]

4
) Which of the following is a learner-centric teaching method?
(1) Demonstration (2) Drill and Practice
(3) Question — answer (4) Cooperative learning

et 3 & -t freefl S v 27

PE—

(1)  vEeH (2) f5& 3R w19
(3) THA-I (4) wH=aTl AT

[Question ID = 2887][Question Description = Q09_GP_Set11_S1]
1. 1 [Option ID = 11545]
2. 2 [Option ID = 11546]
3. 3 [Option ID = 11547]
4. 4 [Option ID = 11548]

Correct Answer :-
e 1 [Option ID = 11545]

What 1s true about non-formal learming environment?

—

(A) Learning does not take place in a structured way
(B) Does not aim at certification
(C) Learning takes place in a structured manner

(D)  Takes place outside formal educational structure

(E) Intends to achieve pre-determined educational objectives

Choose the most appropriate answer from the options given below :

(1) (C) and (D) only \}2{ (D) and (E) only
(3) (A) and (B) only (4) (B) and (C) only

T3 T4 TEm & oF § 997 T8l 2 7

@A) wrm wmEfem w9 A T A T %‘/’i
B)  =TE T 327 AE e 2 | éx/ ,ur\
(©) e mf A # T R p/
D) Faﬁwﬁfﬁﬁﬁzﬁw—cﬁaﬁﬂw\%/ \

(E) =d ﬁmfmﬂfmmwwmwhaﬂmrl

Hi= o T foereat 9§ H9E IS S R 99 A

(1) == (C) 3 (D) \/f}/ == (D) 31 (E)

(3  F= (A) 3R (B) (49 Fa= (B) @R (C)

[Question ID = 2888][Question Description = Q10_GP_Set11_S1]
1. 1 [Option ID = 11549]
2. 2 [Option ID = 11550]
3. 3 [Option ID = 11551]
4. 4 [Option ID = 11552]

Correct Answer :-
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e 1 [Option ID = 11549]

6
) A question whether the findings by social science researchers are relevant to the everyday
life people 1n natural settingsiscalled: —————— ~—
(1) Validity of relevance (2) Natural validity
(3) Soclial validity \},4/)‘ Ecological validity

~ . >
Tmoﬁmmmwnmwmmmmmmmsﬁmmmmfm
T 2 AT E, W FE A

(1)  Hag H o (2) T Fea

(3) =T S @ @

[Question ID = 2889][Question Description = Q11_GP_Set11_S1]
1. 1 [Option ID = 11553]
2. 2 [Option ID = 11554]
3. 3 [Option ID = 11555]
4. 4 [Option ID = 11556]

Correct Answer :-
e 1 [Option ID = 11553]

» Easy Notes 4u Online Study

The notich of turn-taking is employed in :
(1) Historical research (2) Phenomenology
(3) Critical discourse analysis (4) Secondary analysis J"‘%

T o (ZH-1T) T srEgmo 1 s e we e

(1)  ufaeras ma | (2) ZEEgeT fa=
(3) LWHH?&IW@ @) Tadres fagemm § g‘pﬁv—

[Question ID = 2890][Question Description = Q12_GP_Set11_S1]
1. 1 [Option ID = 11557]
2. 2 [Option ID = 11558]
3. 3 [Option ID = 11559]
4. 4 [Option ID = 11560]

Correct Answer :-
e 1 [Option ID = 11557]

8
) Which of the following are issues in wrltlng research proposal?
(A) Selection of the appropriate topic

(B) Framing of research objectives

(0 Framing of hypothesis or research questions

(D)  Convincing friends and colleagues

(E) Choosing the correct research method and data analysis technique

Choose the correct answer from the options given below :

(1 (A). (B). (D) only (2) (B). (C). (D) only
(3)  (A). (C). (D) only \91 (A). (B). (C). (E) only
frfefigs § & == oy T wE g gE 27

(B) IS FeTET AT AT |
(C) m‘ﬂwmmwmwzz/

—_—

(E) =1 9y g 317 20q favetaw a1 = == |

(A) aﬁﬁh’www——r\/ /

9 fou T foerem @ © wE I W == i
(1) == (A). (B). D) (2) = (B), (0). (D)
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Easy Notes 4u Online Study
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[Question ID = 2891][Question Description = Q13_GP_Set11_S1]
1. 1 [Option ID = 11561]
2. 2 [Option ID = 11562]
3. 3 [Option ID = 11563]
4. 4 [Option ID = 11564]

Correct Answer :-
e 1 [Option ID = 11561]

Given below are two statements :

Statement I: Integration of qualitative and quantitative research methods i1s a trend
accepted in social science research.

Statement IT : Some critics say that research methods have ‘fixed epistemological and
ontological implications’ and as such mixed methods are not desirable.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is falze

(4) Statement I is false but Statement II is true

i 71 A few T E

FuA (1) :  TOeH 3R AECHS AT Tghd 1 TR AT fAeE g § wHiehd o T | |/

F%F (1) : F9 ATEH H Fedl & 6 WG TG [ TAEEEE A7 e FHead’ 2 o1 o

I FYE F A °, S 2w e O 9 9 39w 99 i

o)) (mmlaﬁznﬁwf—h

2 FR IR O 55T 2 |

(3) = 19 2, i e I 950 2 |
(4)  F I T 7, vt 9d [ 2 |

[Question ID = 2892][Question Description = Q14_GP_Set11_S1]
1. 1 [Option ID = 11565]
2. 2 [Option ID = 11566]
3. 3 [Option ID = 11567]
4. 4 [Option ID = 11568]

Correct Answer :-
e 1 [Option ID = 11565]

10 cimslant comparison 1s a tool used in : Z//
(1) Grounded theory \\}" ! (2) Feministic theory <
N
(3) Relational theory , v (4} Grand theory

\

T geAa IO %7 wEP A Ean B 7

(1)  wfefe (Tsss)agE (2) A EE g
(3) T fagh (@) wam g

[Question ID = 2893][Question Description = Q15_GP_Set11_S1]
1. 1 [Option ID = 11569]
2. 2 [Option ID = 11570]
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3. 3 [Option ID = 11571]
4. 4 [Option ID = 11572]

Correct Answer :-
e 1 [Option ID = 11569]

11)
Non-verbal communication y
(1) Impractical (2) Indifferent
(3) Non - repetitive (4) Sub-conscious

— =y 3
FMegH G999 & -

(1)  FFEEen (2) IFHEE
(3) -y (4) sTE-=

[Question ID = 2894][Question Description = Q16_GP_Set11_S1]
1. 1 [Option ID = 11573]
2. 2 [Option ID = 11574]
3. 3 [Option ID = 11575]
4. 4 [Option ID = 11576]

Correct Answer :-
e 1 [Option ID = 11573]

12) . . . .
‘Which of the following are barriers to understand the communicated message?

(A)  Pre-judgement \/ o o

(B) Source credibility

(© Length of communication

\ S DR
(D)  Source creation /

(E) Existing knowledge of the receiver

Choose the correct answer from the options given below :
(1) \ (A). (C) and (E)J (2) (B).(D)and (E)
(3)  (A). (B)and (D) 4) (C). (D) and (E)

Thifaa Tam F TaeE A FefatiEd § 9 SH-H a2 e
@A)  gE-FE

(B) @ = fEvEEEE

© A

(D) @E FHEm

(E) &l = f999m 3

fra Teu el 5 | HR1 390 6 =9 FI0A

(A). (C) #T (B) 2 (B). D)7 (E)
(3) (A, (B) 3 (D) @ (C). (D) 3 (E)

[Question ID = 2895][Question Description = Q17_GP_Set11_S1]
1. 1 [Option ID = 11577]
2. 2 [Option ID = 11578]
3. 3 [Option ID = 11579]
4. 4 [Option ID = 11580]

Correct Answer :-
e 1 [Option ID = 11577]
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13) Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Western communication tradition emphasizes the cognitive ability of
students.

Reason (R) : Language precision does not have a place in the western system of

communication vis-a-vis students’ ability for knowledge appropriation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

T =1 A 2T e E v aiaEeE (Assertion A) ¥ =9 | fdfad 2 @1 FHA 9% #FA (Reason R) &

=Y T

A (A) TS HEIU TR | |&a1fﬁﬁiﬁﬁﬂﬁmﬂawmaaﬁmaﬁi%/

= (R) HOer i AR WerE | faenedi i W e auar i qe § 9T gene w0
~— T A= 2 % —

I FY F A A, 419 30 0 fawedi § ¥ HeE IT9EE I H1 w9 HI

() (&) = (R) I =1 2 370 (R), (A) Fi =81 = 2
() (A) =R R) A A S (R), (A) F T = T

3 \ (A =F 2 =f R) =9 E 2 \

@ (A) TR FE F A (R) FE R

[Question ID = 2896][Question Description = Q18_GP_Set11_S1]
1. 1 [Option ID = 11581]
2. 2 [Option ID = 11582]
3. 3 [Option ID = 11583]
4. 4 [Option ID = 11584]

Correct Answer :-
e 1 [Option ID = 11581]

The sequence of communication zones based on individual distances is

(A) Public zone /

(B) Intimate zone

(C) Perszonal zone
—

(D)  Social zone

Choose the correct answer from the options given below :
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[Question ID = 2897][Question Description = Q19_GP_Set11_S1]
1. 1 [Option ID = 11585]
2. 2 [Option ID = 11586]
3. 3 [Option ID = 11587]
4. 4 [Option ID = 11588]

Correct Answer :-
e 1 [Option ID = 11585]

15
) Match List I with List IT
Easy Notesr4u Online Study  wistm
Type of information and meam}g Deszcription of Characteristic
S

(A) Content information () Shared

(B) Relational information Personal
(C) Social meaning (ITII)" Factual

(D) Subjective meaning (IV) Communicator’s feeling

Choose the correct answer from the options given below :

(1) @-ID). (B)-(ID), (O)-@V), (D)-(D
(2)  @-ID. B)-(1IV). (O)-dD). (D)-D
@)  @-D. ®-1D. (O)-av). (D)-a1I)
(4  @-ID. B)-1IV). (O)-O. (D)-AD

-1 % =19 Fi-11 =1 e ife

EiB .11

=T AR AT F TER fereaaT = v
\/ TT—


91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Ink

91956
Easy Notes 4u Online Study


(A) T3 FaE = LIS

< [
(B) HauHF (D) <=tFTH @\/ \5—9‘" \
1
i I) "= / ~

(C) @mI=® 379
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(1)  (A)-aD. (B)-(IID). (C)-(IV). (D)-T)

(2 (A)~(III). (B)-(IV), (C)-aD. (D)-D

(3) (A)-(I), (B)-(ID), (C)-(AV). (D)-(I1IT)

4 (A)-I11D), (B)-AV), (O)-(D), (D)-AD)
[Question ID = 2898][Question Description = Q20_GP_Set11_S1]
1. 1 [Option ID = 11589]
2. 2 [Option ID = 11590]

3. 3 [Option ID = 11591]
4. 4 [Option ID = 11592]

Correct Answer :-
e 1 [Option ID = 11589]

Consider the following statements regarding clocks :

J @& !il 60 miniﬁtes_. the minute hand gains 55 minutes on th/h@and v\//’

% (®B) In every hour, both the hands coincide once @

\/(C) When the two hands are at right angles, they are 15 minute spaces apart. ‘9

Choose the correct statements from above :

(1) (A) and (C) only (2) (A). and (B) only

(3)  (B)and (C) only 4 (. (B and (O)
Hizdl = 51 | FHeffigd wu w o= Fitsw

A) aeﬁmﬁﬁqaﬁ@ﬁﬁ@a&wa@m Afers 1 wofE 70 T e 2

® TERE g vV

(C) =@ g1 G2a1 99 | GHFIV 9L Zidl £ °1 g1 6 s 6 1 Aqt 15 {5 0w )

= = Y\ \)' %/

it fau 7 oot @ @ @ I = i 5
C‘)b

(1) =4 (A) 3 () (2) Faa (A) 3 (B) a

(3) F= (B) 3R (O) W (A). (B) T (C)

emBRYNeles, 4u.Qnikng Study

1. 1 [Option ID = 11593]
2. 2 [Option ID = 11594]
3. 3 [Option ID = 11595]
4. 4 [Option ID = 11596]

Correct Answer :-
e 1 [Option ID = 11593]

By selling 24 pens, a vendor lost the selling price of 6 pens. Find the loss percent

———

1 10% @ 15%
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[Question ID = 2900][Question Description = Q22_GP_Set11_S1] Q Uren —— Q \{ﬂ
1. 1 [Option ID = 11597] \‘6\) —_— /s

2. 2 [Option ID = 11598] [ _/JM
3. 3 [Option ID = 11599] c-
4. 4 [Option ID = 11600]

Correct Answer :-
e 1 [Option ID = 11597]

Given below are two statements :

Statement I: If two trains of length x km and ¥ km are moving in the same direction at
u kmph and v kmph respectively, where u >v , then time taken by faster

train to cross the slower train is equal to [x 1Y ]h_rs

U+U, \/

Statement II: If two trains are moving in opposite directions at u kmph and v kmph. Then,
their relative speed 1s equal to (x +v) kmph, = ————

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I is true but Statement IT is falze
(4) Statement I is false but Statement I 1= true

fRTFFRTmE .

Fod () : A2 x Bl o y s wmg f1 3 wwfew v & fn 8 e o BEARL /AL R
v R, o, i ifa O 9 2 W R o >v, 91 99 A ° S G5l ternsl g e g °

G S o x+ ;
AT TS UE A § T HJET B :( y}ﬁ.
u+uv

FoF (D) : =If2 21 tomien u ©6.4i. /4 3fit o PR /o =i 7 @ wh-gm =i faia e 8 e =
q ST AIEE T w0 (u +v) FRLAL AL %

IULE HIA F ATE H, A= G T fawei § ¥ e 39 = i

(1) =FIATIZF a7 |

(2 A [ #E 2 55 2

(3) w9 15 2, wifea wed 11 #4607 2 |

(4 =9 I AGeg 2, i a9 [Loeg 2|

[Question ID = 2901][Question Description = Q23_GP_Set11_S1]
1. 1 [Option ID = 11601]
2. 2 [Option ID = 11602]
3. 3 [Option ID = 11603]
4. 4 [Option ID = 11604]

Correct Answer :-
e 1 [Option ID = 11601]

19)/ The value of a mobile phone depreciates at the rate of 10% every year. It was purchased

vears ago. If its present value is T 6561/-, its purchase price was. .

(1) T 8100/- (2) T 9000/-

(3) % 9100/ /\ (4 T 9729/ s

et Arese 1 F go9 10% Tia a9 il 2" 92 T 2 | 39 qEEa #1399 95 @iig T 91 318 5|
5 X e ———— A4 it B e RS SRR
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[Question ID = 2902][Question Description = Q24_GP_Set11_S1]

1. 1 [Option ID = 11605] 2
2. 2 [Option ID = 11606] G L)A/\\ - O\m \)50\"\\
3. 3 [Option ID = 11607] % /

4. 4 [Option ID = 11608] ’\ L

Correct Answer :-
e 1 [Option ID = 11605]

The least number by which 72 must be multiplied in order to produce a multiple o@s

(1) 6 2y 12

@ 14 @ 18 . /

112 =1 o= TIH 0 £ 72 Y6 TR TeE S g 8 en #e B

1 6 @ 12 . L =N

@ (14 @ 18 @
W - \8
1[Question ID = 2903][Question Description = Q25_GP_Set11_S1] _,\1*\\1\ -

. 1 [Option ID = 11609]
2. 2 [Option ID = 11610]
3. 3 [Option ID = 11611]
4. 4 [Option ID = 11612]

Correct Answer :-
e 1 [Option ID = 11609]

“Wherever there 1s smoke, fire 1s also present”. Which of the following statements 1s true

with reference to the above statement according to Nyaya philosophy?

(A) Smoke cannot exist without fire also being present there \/

(B) Fire causes smoke

(C) Universal fireness causes universal smokeness

(D) It asserts that there i concommitance between sm@m

Choose the correct answer from the options given below :

( Only (A) and (D) are correct (2) Only (A) and (B) are correct

(3) Only (C) and (D) are correct (4) Only (B) and (D) are correct

YR gt w2 3w o fEmm e 21 = o F AR S9d #e % g Fefetaa 9 3
= o= \

FH-H FUT HE BT

(A) =T =1 SufEEld o S gU F1 HAiEded A8 7 aar | /

(B) T H Yy G A E |
(C)  wmE9m A FEUm g3 F1 FF 2 |

. = /:-_\.:,". 3 AN o L a3 %
(D)  T7 TuTua T & 5 91 3R 937 % U 59 & W9 TEd mey B

4= fau T e 4§ wE I W =it

(1) =a (A) ¥R (D) =8 # (2) A= (A) ¥R (B) @H 7

(3) ad (C) 31K (D) T 2 (4) A (B) ik D) 5 2
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[Question ID = 2904][Question Description = Q26_GP_Set11_S1]
1. 1 [Option ID = 11613]
2. 2 [Option ID = 11614]
3. 3 [Option ID = 11615]
4. 4 [Option ID = 11616]

Correct Answer :-
e 1 [Option ID = 11613]

Given below are two statements :

/ Statement I: The terms Valid' and ‘invalid’ apply to arguments. X
/ Statement IT: The terms ‘Cogent’ and ‘Non-cogent” apply to statements. }\

In the light of the above statements. choose the correct answer from the options given below:

(D Both Statement I and Statement II are true \/
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I is false but Statement I 1s true

Easy Notes 4u Online Study
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[Question ID = 2905][Question Description = Q27_GP_Set11_S1]
1. 1 [Option ID = 11617]
2. 2 [Option ID = 11618]
3. 3 [Option ID = 11619]
4. 4 [Option ID = 11620]

Correct Answer :-
e 1 [Option ID = 11617]

Jéonsider the series — “animal. mammal, feline, tiger”. Which of the following statement/s
is/are true with reference to this series

(A) It is in order of increasing intension \A{E\L

(B) It is in order of increasing extension \\J'UD
(C) It i= in order of decreasing intension @

(D) It is in order of decreasing extension

Choose the correct answer from the options given below :
(1) Only (B) is correct (2) Only (B) and (C) are correct
(3) Only (A) and (D) are co\njn/ (4)  Only (C) is correct

F - I, wAarl, fGEm-a, am W fEn fifhw) @ o#e F dEe § fefaies 3 ow
FE-H/F - FE T 2 )F -

T
(B) T 9gd 50 fHEann F FH A B

(€) 7 e Fu AP (SEH) F A2

D) Todz A FEFnd?

= fou m fawe § B 99 I o =99 i

(1) Faw B 7 2 (2) =4 (B) ¥R () 74 #
(3)  Fa= (A) IR (D) FH 7 (4) A7 (C) =F 2

[Question ID = 2906][Question Description = Q28_GP_Set11_S1]
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1 [Option ID = 11621]
2 [Option ID = 11622]
3 [Option ID = 11623]
4 [Option ID = 11624]

A W N -

Correct Answer :-
e 1 [Option ID = 11621]

“All people who live in Varanasi are people who drink tea, and all people who drink tea are
people who like it. We may conclude, then, that all people who live in Varanasi are people
who like 1t. What is wrong with this argument?

(A) There 1s equivocation on the term “People who like it.”
(B) It commits existential fallacy

(C) It commits fallacy of exclusive premises.
(D) It commits fallacy of four terms.
Choose the correct answer from the options given below :

(1) Only (A) 1s correct (2) Only (A) and (C) are correct
(3) Only (A) and (B) are correct {(4) Only (A) and (D) are correct

“grEondt § = A i o= dW 2, 3 = dHEe aneE 99 S o6 uEg w6 2| 99 79 e

freprer wha 2 T amort 8 T O Bt M F o 2 W 56 UES FAd B | 39 A ° 9 A 27

(A) Lwafa S =8 TEe w8 g amsa 2|

(B) zHH ARCWE BT 7 |

(C)  =HH =T ATLITH 1 EcaTaq 2 |

(D) %ﬂﬁﬁr{ﬁ?ﬂﬁwgl /

Hia f3u U faseal § © HE SR W1 == it

(1) qﬁ'_"f(A)ﬂfI_ﬁ' (2) W(A)jﬂ—{ (C)Hﬁ”?
(3) A (A) i (B) T ) e (A) s (D) wA F

[Question ID = 2907][Question Description = Q29_GP_Set11_S1]
1. 1 [Option ID = 11625]
2. 2 [Option ID = 11626]
3. 3 [Option ID = 11627]
4. 4 [Option ID = 11628]

Correct Answer :-

e 1 [Option ID = 11625]

25) 7\
\// In which of the five steps of inference (anumana) in the Nvaya syllogism all thE_! three ter@s

stand synthesized?
= (. —s®%
(1) Upanaya = - — (2) Nigamana

(3)  Udaharana (4) Hetu >@\/
Hﬂ@hﬁ:ﬂgﬂﬁ@ﬁ%ﬁwﬁﬂ@ﬂﬁﬁﬂiﬁ%?
@ (377 ) / (2) T

(3) == @ =

[Question ID = 2908][Question Description = Q30_GP_Set11_S1]
1. 1 [Option ID = 11629]
2. 2 [Option ID = 11630]
3. 3 [Option ID = 11631]
4. 4 [Option ID = 11632]
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Correct Answer :-
e 1 [Option ID = 11629]

Which of the following is equivalent to 8 Giga bytes?
(1) 223 hytes (2) 2¥bytes _ /

(3) 230 bytes (4) 22 bytes

FAfeAfaa 5 9 FE-37 § W0 arEe & e 2 7

(3) 230 7152 (4) 2289z

[Question ID = 2909][Question Description = Q31_GP_Set11_S1]
1. 1 [Option ID = 11633]
2. 2 [Option ID = 11634]
3. 3 [Option ID = 11635]
4. 4 [Option ID = 11636]

Correct Answer :-
e 1 [Option ID = 11633]

2\7y Internet Explorer and Mozilla Firefox are : | V“ly/’
(1)  Web Portals (2) ( WWW browsers \\!,‘.\g
3 Search Engines — {(4) Compilers
—

52T U ST ATTAAT BETR A F

i -l
g w0 N wGamm)

g Qo
@ o FE (4) FETEER Qs )

“

[Question ID = 2910][Question Description = Q32_GP_Set11_S1] S0

1. 1 [Option ID = 11637] -~
2. 2 [Option ID = 11638]
3. 3 [Option ID = 11639]
4. 4 [Option ID = 11640]

Correct Answer :-
e 1 [Option ID = 11637]

Identify the correct order of development of the following storage devices in the ascending
order of their emergence.

(A) DVD

(B) CD-ROM

(C) Magnetic Tape
(D)  Floppy Disk

Choose the correct answer from the options given below :

1) (C). (D). (A). (B) 2) (D). (). (B). (4)
3 (B). (D). (0. A) @ (©). D). [B). &)

Fr=ferfiga =re feamsal =1 57 393 e F A WA %4 8 fafea Fif |
—/_

@ #HHD)
® H . dm @
() #®Ewm ©

D) = i (D)
= fau o fompei | o wE s w0 == Fifw

(1)  (C). (D). (A). (B) (2), D). (C). (B). A
3 B D). ). A \yﬁ (C). (D). (B). (A)
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[Question ID = 2911][Question Description = Q33_GP_Set11_S1]
1. 1 [Option ID = 11641]
2. 2 [Option ID = 11642]
3. 3 [Option ID = 11643]
4. 4 [Option ID = 11644]

Correct Answer :-
e 1 [Option ID = 11641]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) Easy Notes 4u Online Study

Assertion (A) : Internet is one of the popular services offered on the World Wide Web
(WWW).

Reason (R) : The WWW 1is the universe of network — accessible information.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) 1s true

= 31 e T U, wh AfaweE (Assertion A) % =0 H e A 7= 9% 0 (Reason R)

e . /\\) = 3 o X o = - X 3
SR (A) : 7072 (3% TS J9) (WWW) T 3241 A0 @t v e 2 2 DA

FT (R) : WWW Fza % "1sam & 95 areil gest 1 o = 56w 21\

IR FUA F AAF H, A9 20 0 [FEeT § 9 HE 39 %1 999 i

(1) (A) 3 (R) =H1 &ea 3 311 (R). (A) i =&t ==me 2 |
(2)  (A) 3R (R) I "3 B, =it (R), (A) 1 981 = TR E |
(3) (AT, w9 (R) 793 2 |

@) (A 5= 2, S (R) 79 20 \/

[Question ID = 2912][Question Description = Q34_GP_Set11_S1]
1. 1 [Option ID = 11645]
2. 2 [Option ID = 11646]
3. 3 [Option ID = 11647]
4. 4 [Option ID = 11648]

Correct Answer :-
e 1 [Option ID = 11645]

Match Last T with List IT

ListI \/ /&N,,/n_, List IT

(Digital Initiative) — -(Objective

(A) e-Vidwan \ (I} Digital-learning environment for
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(II) Subscription—based scholarly
information (e-books and e-journals) at
lower rates.

II) Expert Database and National
Research Network

(IV) Spread education in Embedded
systems and Robotics

(B) e-Kalpa

(C) e-Yantra

(D) e-Sodh Sindhu

Choose the correct answer from the options given below :

(1) (A)-dID. (B)-(IV), (C)-@). (D)D)
@  A-ID. B)-D. (O)-@V). (D)-I1D
3 (A, B)-D. (C)-IV). (D)D)
4 (A-D. B)-1ID). (C)-(IV). (D)-ID)

-1 =y -1 =1 e it
Easy Note€4u Online Study  **
iz = FHT
(A) =-fagm st 74 fefaea wirm vrame
B) T D) == 3 W IR AEa AR wE
(3-weerh FAT S-afr)
©) - (L) e Szmm i Tda sEEae Sead
D) -7y &w IV) fomemm ¥ et 4 wf-tza = e

= o T fomrem 9 @ wE I H = i

(1) (A)-IID). (B)-IV). (C)-(O). (D)-(ID

(2 A-aDn. @-@D). (€)-av). (D)-(I1IL)

@ Q-1 B, ©-1V). -1 _|

4 A-D. B)-IID, (C)-(IV). (D)-(ID
[Question ID = 2913][Question Description = Q35_GP_Set11_S1]
1. 1 [Option ID = 11649]
2. 2 [Option ID = 11650]

3. 3 [Option ID = 11651]
4. 4 [Option ID = 11652]

Correct Answer :-
e 1 [Option ID = 11649]

‘To conserve and sustainably use the oceans, seas and marine resources’ — is the aim of
sustainable development Goal number :

@ 12

1 10
3) 4) 16

HEEPE, BPF T GHE SETEA] T GEd O ST S SEEiE SuEe e SuniE fawm f e
FE T T IET B 7

(1) 10 (2 12

(3) (14 ) (4) 16 \/
[Question ID = 2914][Question Description = Q36_GP_Set11_S1]
1. 1 [Option ID = 11653]
2. 2 [Option ID = 11654]

3. 3 [Option ID = 11655]
4. 4 [Option ID = 11656]

Correct Answer :-
e 1 [Option ID = 11653]
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32) According to composition (%) of typical fine continental aerosols. identify the correct

sequence In decreasing order.

(A) Sulphate
(B) Ammonium
(C) Organic carbon

(D) Elemental Carbon

Easy Notes 4u Online Study

Choose correct answer from the options given below™
@)>©>®>[D) @ @ >® > >MD)
3@ ©O©=AQ=>B=D @ (©)=D)=[B)=>A

TafeTE 95w AR A & Niaea (%) FHew ® STEE, TRl SE0E FH TR i

=

(A) =R

B)  FHEIPH

(C) =T FreA

(D)  vfeweE e

Fr= fau o et d | wA # I R

( A)=(C) =B = D) 2 @W=@B=C) =D
@ O=@=>B=D 4 (©)=D)= @B = @A)

[Question ID = 2915][Question Description = Q37_GP_Set11_S1]
1. 1 [Option ID = 11657]
2. 2 [Option ID = 11658]
3. 3 [Option ID = 11659]
4. 4 [Option ID = 11660]

Correct Answer :-
e 1 [Option ID = 11657]

33) Point sources of water pollution are :
(A) Underground coal mines
(B) Run-off from farm fields
(C) Sewage treatment plants
(D) Run-off from roads and construction sites
(E) Power plants
Choose the correct answer from the options given below :
()  (C).(E)only \/}Z/ (8). (C). (E) only
(3) (A).©).D) Eyonly (4 (B).(C), (E)only
N\

e TEE & YU | B -

(A)  gEETE wEE @ /

(B) @ T A W

(C) Wrnﬂ—-fw/
(D) = FAR FEE e 3 S awE

(E) ﬁaﬂm/
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Hi f5u v fomeTl 9§ HE 39 1 = i

(1)  F=9(0). (B) \ﬂ{ A (A). (C) #1 (E)
(3)  Fa4 (A). (O). (D), () (4) == (B), (C) ¥ (E)

[Question ID = 2916][Question Description = Q38_GP_Set11_S1]
1. 1 [Option ID = 11661]
2. 2 [Option ID = 11662]
3. 3 [Option ID = 11663]
4. 4 [Option ID = 11664]

Correct Answer :-
e 1 [Option ID = 11661]

(1) ~32-40m/s (2) ~24—30 m/s
(3) ~15-22 mis 4) ~4-12m/s

U5 S| SCIET 25 7l I A %l 39aH 15 & -

(1)  ~32—404i./m, (2) ~24— 304 /4.
(3) ~15-22.m. \/(f) ~4_ 12 1./,

[Question ID = 2917][Question Description = Q39_GP_Set11_S1]
1. 1 [Option ID = 11665]
2. 2 [Option ID = 11666]
3. 3 [Option ID = 11667]
4. 4 [Option ID = 11668]

Correct Answer :-
e 1 [Option ID = 11665]

In the international Solar Alliance Mission, these entities are corporate Partners from India :

(A) National Thermal Power corporation
(B) Power grid corporation

(C) State Bank of India

(D)  Rural Electrification Corporation

(E) Indian Renewable Energy Development Agency

Choose the correct answer from the options given below :
() (A (D). (E) only (2) (A (C). (D) only

(3) (A (B). (D) only @ (&), (B). (D). (E) only
Easy Noles duQniine Study. ..

Q) TEE Tty e

(B) WS HEARIH

(C) wnAm =2 W%

D)  FEw EEdEE S

(E)  aneA™ Femoia = & ww-
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= T30 0 foerem | O HE 3 S =9 T

(1) 3« (A), (D), (E) (2) a4 (A), (O), (D)

(3) ¥ (A), (B). (D) (4)/F (4). (B). (D). (E)

[Question ID = 2918][Question Description = Q40_GP_Set11_S1]
1. 1 [Option ID = 11669]
2. 2 [Option ID = 11670]
3. 3 [Option ID = 11671]
4. 4 [Option ID = 11672]

Correct Answer :-
e 1 [Option ID = 11669]

36)
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  Although in terms of number of publication of research papers India 1s
quite ahead of many countries. its position In world Ranking of
Universities 1s quite low.
Reason (R) : The quality of most of the research papers published by scholars from

India is not very good.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1= not correct but (R) is correct

4= 31w 2o o B :T{?ﬁ3??"‘31?{»721:[(Asseﬁon&)#@ﬁﬁﬁﬁﬁi?ﬁgwmw(ReasonR)’:‘ﬁ

=g q

AT (A):  TEN A T F TREE I GEN F OEG B OGN Sgd ° 29 6 AW R, 6
frva % favataem S i d om ah F= 2 K

F0 (R) : YA fagHT % whio SIfeesiora: o = = qurEeaT 95d St A6 F |

I FYF F A |, = de e et § 9 wew g 9 6 99 i

(1)  (A) =R (R)ZA1 wF 2 HT (R), (A) Fi wE == 7 |

(@  (A) R (R) IF =F 2 A (R), (A) F 08 = T8 2

(8)  (A)=F 2 =th (R) =1 41 2 |

@ (A T 2 R)EE 2
[Question ID = 2919][Question Description = Q41_GP_Set11_S1]
1. 1 [Option ID = 11673]
2. 2 [Option ID = 11674]

3. 3 [Option ID = 11675]
4. 4 [Option ID = 11676]

Correct Answer :-
e 1 [Option ID = 11673]
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In which text among the following. importance has been given to multi-disciplinary

education?
(1 Abhigyan Shakuntalam (2) Rig-Veda
(3) Upanishad (4) EKadambari

[T TErd 1291 FaT £ 7

[t  matil Bt i‘:l_l:‘lﬁ T %[EIE—P

(1) AT TFaem (2) =g
(3)  IuFwE (4) e

[Question ID = 2920][Question Description = Q42_GP_Set11_S1]
1. 1 [Option ID = 11677]
2. 2 [Option ID = 11678]
3. 3 [Option ID = 11679]
4. 4 [Option ID = 11680]

Correct Answer :-
e 1 [Option ID = 11677]

s Easy Notes 4y Online Study

wo statements :

Statement I: Women research scholars find it difficult to cope with the dual
responsibilities of research activities and family responsibilities.

Statement II: There 1z a significant drop out of the women research scholars in our

country.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement Il are‘correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement I is incorrect
()] Statement I 1s incorrect but Statement II is correct

H= 2w R e E

Fo ([):  \fee TY SEE A0 TAEEE S8 TiEE EhE F 2E Semaied % HaE § Fiean
=T AT AT 7

Fu (II) : =A% 290 | Ateen @ G (wra = 1§ # 9 2H) wee A i gen weh st

7l

¥ %

IHIFE FYA & A °H, Fi= o T fawen 7 o wem sugE T # =9E Hiiaw
(1 %WIﬁﬁIlﬁﬁ%I/

(2 T [HAT I aH Tod & 1

(3) = 1=l 2, St %9 117 2 |

(4) = 1A 7, s we [LEE 2 |

[Question ID = 2921][Question Description = Q43_GP_Set11_S1]
1. 1 [Option ID = 11681]
2. 2 [Option ID = 11682]
3. 3 [Option ID = 11683]
4. 4 [Option ID = 11684]

Correct Answer :-
e 1 [Option ID = 11681]

) EASy Notes 4u Online Study

MatchTast I with List IT

ListI List IT

(AY  Thawvalr M  Phyoira
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91956
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b T & S TR mme—— b - Tw

(B) Sushrut (I) Medicine
(C) Varahmihira (III) Surgery
(D) Kanad (IV) Astronomy

Choose the correct answer from the options given below :

(D A-D. B)-AV). (C)-1D. (D)-IID
(2)  A-IID). (B)-1). (C)-aV). (D)-(D)
(3) AID. B)-dI). (O)-aV). D)-@
4  (A)-IV). (B)-aD. (O)-D. (D)-(IID)

=1 % mg gH1-11 =1 faem #ifaw -

1 F-11

(&)
(B)

(©

\&¥**

D) y
Hi= f2u T faeat § @ wE S = Fif

1) @D, B)-1V). (O)-D). (D)-AID)
(2)  @)-d. B)-(D). (C)-IV). (D)-(ID)
(3)  A-ID. (B)-(ID, (O)-1V), (D)-(D \/

4  (A)-IV), (B)-dD. (O)-(D). (D)-IID

[Question ID = 2922][Question Description = Q44_GP_Set11_S1]
1. 1 [Option ID = 11685]
2. 2 [Option ID = 11686]
3. 3 [Option ID = 11687]
4. 4 [Option ID = 11688]

Correct Answer :-

& 1 [Option ID = 11685]

Which among the following are the objectives of higher education?

(A) To educate every citizen

(B) To promote economic growth \/

(C) To improve the image of the country

(D)  To promote critical thinking \/

(E) To compete with the neighbouring country.

Choose the correct answer from the options given below :
() (A (C)only (2) (B).(C) only

3  (C). (D) only @ ®). @) only

——
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Easy Notes4u Online Study

(A)  TeE AT e e |

(B) == gig = Yefed F| S

(C)y == =i =fa =t gaw |

D) EEAEF ﬁaﬁ”mwa‘r’;m\/

(B) 9= 291 % =9 ufaeast & |

#r9 fau v fameqi 9 | wE1 SR 1 == Fife
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1. 1 [Option ID = 11689]
2. 2 [Option ID = 11690]
3. 3 [Option ID = 11691]
4. 4 [Option ID = 11692]

Correct Answer :-
e 1 [Option ID = 11689]
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1) Read the following passage carefully and answer question V\‘ @"3\)\

The declaration by the World Health Organisation, (WHO) that the whole of Africa 1s free of
the wild polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It is
after a long programme of vaccination and surveillance that it has now been declared that
polio has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement is all the more remarkable as it comes when the world is in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polioc may be near its end with the success in Africa. The only two
countries where the viral affliction is still present and iz a live threat are Pakistan and
Afehanistan. There 1s no cure for polic which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This is still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared polio-free in March 2014.
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Which landmark achievement was declared ‘Historic' by the WHO?

(1) Coming together of WHO and UNICEF to launch vaccination programme.
(2) Polio-free Africa \/
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(3) India becoming polio free in 2014

(1) All the countries of the world becoming polic free.
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[Question ID = 2924][Question Description = Q46_GP_Set11_S1]
1. 1

[Option ID = 11693]
2.2

[Option ID = 11694]
3.3

[Option ID = 11695]
4. 4

[Option ID = 11696]

Correct Answer :-

e 1

[Option ID = 11693]

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa is free of
the wild polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called 1t “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It is
after a long programme of vacclnation and surveillance that it has now been declared that
polio has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement is all the more remarkable as it comes when the world is in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success in Africa. The only two
countries where the viral affliction is still present and is a live threat are Pakistan and
Afghanistan. There i1s no cure for polic which causes irreversible paralysis, mostly among
children. and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It is estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
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vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem 1n Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared polio-free in March 2014.

Why polio vaccination is important for WHO?

1) There 1s no cure for polio.

(2) Pakistan and Afghanistan have the most polio afflicted population.
6)] The failure of vaccination programme in many parts of the world.

(4) The large amount of money invested in the programme.
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1.1

[Option ID = 11697]
2.2

[Option ID = 11698]
3.3

[Option ID = 11699]
4. 4

[Option ID = 11700]

Correct Answer :-
o 1

[Option ID = 11697]

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa is free of
the wild polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It is
after a long programme of vaccination and surveillance that it has now been declared that
polio has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement is all the more remarkable as it comes when the world is in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.
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1he campalgn against pollo may be near 1ts end with the success In Alrica. 1he only Two
countries where the viral affliction is still present and is a live threat are Pakistan and
Afehanistan. There i1s no cure for polic which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This is still a serious
problem 1n Pakistan and Afehanistan. India, which once had the highest case load in the
world. was declared polio-free in March 2014.

The countries still afflicted by polio are in :

(1) Balkan region (2) Latin America
(3) As:i\a/ (4) Sub-Saharan area
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[Question ID = 2926][Question Description = Q48_GP_Set11_S1]
1.1

[Option ID = 11701]
2.2

[Option ID = 11702]
3.3

[Option ID = 11703]
4. 4

[Option ID = 11704]
Correct Answer :-
e 1

[Option ID = 11701]

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa is free of
the wild polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”

because as late as 2012 the continent had accounted for half of all polio cases worldwide. It is
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polio has been eradicated in all 47 countries in Africa. It i1s four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement is all the more remarkable as it comes when the world 1s in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success in Africa. The only two
countries where the viral affliction is still present and i=s a live threat are Pakistan and
Afehanistan. There is no cure for polic which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This is still a serious
problem in Pakistan and Afehanistan. India, which once had the highest case load in the
world. was declared polio-free in March 2014.

The world wide campaign for eradication of polio was launched by

(1 International civil society (2) Inter-governmental agencies
(3) UN agencies (4) US agencies

fvg e G (3org = a1 Tz givon 6 g sefier aes gt 9ERE § e A T R, e
FH H =l 31 5 A g dfeas ot 5w s die wn v 7 fava s e |
A wu A Ufmiew ww : e 2012 6 3w weE 4 fva % ope Gl ame oo wen o |
F1 THEE B T R | AR A A e, 79 o G o 9w wifesr o # ommen wee 6 e 2 ) oA A
wRel IEG-A FifET 4 gEE S AN AEH S 91| TF SUeisd a9 R S AEeayn 7 S 2 S

fova o e fi 9z 1 2 3 5On 9 1 e off | diiior 2R Serag med Ao off i wfeen
off 7 i @ FHEE 9% FE TEEE 90| Tod TEER 311 T AFaE 5 S 3 TgEmdr/aree

BIAT & AYGT 369G UE AT °) beidl 8, -9 Gue o | °9% uieeaE AR AEHEEE 0 o ff vedi wwen
2| WA W O U g v | gaitae aiier % qie 9, 35 A 2014 § wiferE gea =g e

Easy Notes 4u Online Study

Mo TR wg fva =t A grn 9 e T
(1)  wigE Wi aEEd (2) wE-TEEE T
(3) =AW g A @) smfch vt

[Question ID = 2927][Question Description = Q49_GP_Set11_S1]
1.1

[Option ID = 11705]
2.2

[Option ID = 11706]
3.3

[Option ID = 11707]
4. 4

[Option ID = 11708]
Correct Answer :-
o 1

[Option ID = 11705]

Read the following passage carefully and answer question
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(A) Non — availability of Vaccine
(B) Paucity of funds

(C) Spread of disinformation

(D)

The declaration by the World Health Organisation, (WHO) that the whole of Africa is free of
the wild polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and surveillance that it has now been declared that
polio has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement is all the more remarkable as it comes when the world is in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polioc may be near its end with the success in Africa. The only two
countries where the viral affliction is still present and is a live threat are Pakistan and
Afehanistan. There i1s no cure for polic which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This is still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared polio-free in March 2014.

Choose the correct options:

(1)
(3)
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(A) and (B) only (2) (B) and (C) only gE

(A) and (D) only (4" (C) and (D) only
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[Question ID = 2928][Question Description = Q50_GP_Set11_S1]
1.1

[Option ID = 11709]
2.2

[Option ID = 11710]
3.3

[Option ID = 11711]
4. 4

[Option ID = 11712]
Correct Answer :-
e 1

[Option ID = 11709]





